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Mathematical
Inequality
Assignment

1. (b)

Q)L x¥¥=-1=0=(x+1)(x-1)
=x=-1311

IL.y2+4y+3=0
=y2+3y+y+3=0
=y(y+3)+1(y+3)=0
=0+DH@y+3)=0=y=-17
A x>y

2. (d)

@@L x2-7x+12=0
=x2-4x-3x+12=0
=x(x-4)-3x-4)=0

=2 x-3)(x-4)=0=>x=3T4
ILy’-12y+32=0
=y2-8y-4y+32=0
=y(y-8)-4(y-8)=0
=2(y-4)(-8)=0=>y=478
WA x<y

3. (c)
(3L x3-371=629
= =371 + 629 = 1000

=x= 31000 = 10

I1. y3 = 543 + 788 = 1331

=y=31331 =11

WRd: x<y

4. (a)

(1) TefterTor [ x 3 — gt [1x 5§,
15x + 6y — 15x - 35y =93 - 180
87 _
29
e [ |, Sx+2x3=31
=5x=31-6=25=>x=95
Wed: x>y

5. (e)

G)L 22+ 11x+12=0
=202 +8x+3x+12=0
=2x(x+4)+3(x+4)=0
=x+4)(2x+3)=0

=-29y=-87=y=

L
=X= a 2

IL.5y2+27y+10=0
=52 +25y+2y+10=0
=5y +5+2(p+5)=0
=(@y+5 (5y+2)=0

2
=y=-53 —?
6. (c)

B)L2x2+Tx+4x+14=0
=x2x+7)+22x+7)=0
=x+2)(2x+7)=0

Lx==-29- '5

1.4y +22y3+9=0
=2y+3)%=0 =2y+3=0

Sy= -% WA x<y
7. (a)

(HDLx=-2)(x+2)=0
sLox=2T-2

IL.y2+2y3+9=0

= (y+372?=0=y+3=0
sy=-3

Wed: x>y

8. (b)

‘2) Lx?-4x-3x+12=0
=x@x-4)-3x-4)=0
=2x-3)x-4)=0

S x=334
IL.y2+4y-3y-12=0
=y(y+4)-3(p+4)=0
=0u-3)(y+4)=0
Ly=33-+4

WeEd: x> y
9. (d)

(4) L x2 =729

nx= 129 =127

Ly= 729 =+27

WEd: x<y

10. (e)

(5) L x* =227 + 398 = 625 = 5*
=ixi=s
I.y2=346-321=25=52 = y=5
WA x=y

11. (b)

2L xX-x-12=0
=x*-4x+3x-12=0
= x(x-4)+3(x-4)=0
=(x-4) (x+3) =0
Lx=471-3

II. »+5y+6=0
=y+3y+2y+6=0
=yly+3)+2@y+3)=0
=2y+3)(y+2) =0
Ly=-3a1-2
WA x> Y

12. (a)

(1)I. *-8x+15=0

= x*~-5x-3x+15=0
=x(x-5-3(x-5)=0
=x-3)(x-5) =0
L= 3D

II. »~3y+2=0
=y-2y-y+2=0

=yy-2)-1@y-2)=0
=y-1)y-2=0
—y=13a2
e x>y
13. (e)
Lx*=32+112=144
x= /144 = *12
U= ﬁ6_9=213
14. (e)
I. x= 121 =11
E 2 =121
Ev=/121=+11
15. (d)
ic-16
x=+4
#-9y+20=0
w“-4y-5y+20=0
uly-4-5@y-4=0
= y-5(y-49=0
u=537A4

16. (3)
B)1.3x +8x+4=0
=3 +6x+2x+4=0
=23x(x+2)+2(x+2)=0
=x+2)(Bx+2)=0
2

.'.X=—2?ﬂ—-§
II.4y2- 19y +12=0
=4y?-16y-3y+12=0
=4y(y-4-3@y-4=0
=(y-4) @4y-3)=0

3
y=4'!TIZ
wWed: x<y
17.(d)
DI x2+x-20=0
=x2+5x-4x+20=0
=x(x+5)-4(x+5)=0
=((x+5)(x-4)=0
Lx=-5"4
. P-y-30=0
=y?-6y+5y-30=0
=yly-6)+5(y-6)=0
=(y-6)y+5 =0
Ly=6a-5

WEd:, X<y

18. (d)

(4)1. X2 =365 + 364 =729
sox = J729=+27

L. y- /324 =81
=y-18=9

=y =27

wEd:, X< Y

19. (e)
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B)L4+7=Jxxdx
— 35 A W |
115/2

. y? - ‘/g =0

241

=y 2=11%52

= /2 = 115/2
=y=11

Wed:, Xx=y

20. (e)
(5)1.225x% =4

2

4
=xX'= 505 SX=£75

1. J225y+2 =0

= J225y =-2
T wA W,
225y =4

=Y=%25

21. (a)

I. 5x2-18x+9=0

= 52 -15x-3x+9=0
= 6x(x-3)-3(x-3'=0
= (x-3}(5x-3)=C

A
. X= 5

II. 2042-13y+2=0

= 2042 -8y-5y+2=0

= 4y (By-2)-1 (Bby-2)=0
= (4y-1)(By-2)=0

wWeEd: x>y

22. (b)

I. x3=878 + 453 = 1331

w x= 1331 =11

II. y? =82+ 39 =121

y=4121=¢11
23. (e)

3 4
) 7;+7;=J;

= 3+4=x>22x=7

I. 9x-4x=54.55+ 1545
= 5x=70=3x=14

II. Jy+155 =7 +6=13

= y+ 155 = 169

= y=169- 155 = 14
25. (c)

I. 2+11x+30=0

= X +6x+5x+30=0
= x(x+6)+5(x+6)=0
= (x+5)(x+6)=0

. x=-5q1-6

II. »+7y+12=0

= y?+4y+3y+12=0
= yly+4)+3@y+4)=0
= (y+3)(y+4 =0

LYy=-3q-4
wWeEd:, x< y
26. (a)
From IIl and 1
29x+2y=190 ...(1)
From III and I1
23x+ y=146 ...(11)

Again from (i) and (ii), we get
x=6,y=8and z=8
X< y=:z
27.(c)
From I and I
x=8
FromIll z=15-8=7
and y=9
X< y>z
28.(e)
xX=,6X6=6
From II and III
4z
=1
again2y=33-21=12
2 y=6
xX=y<z

28

29. (d)
From equation I and 11
& +T7y=135}x6
Sx+6y=99}x7

(48x—35x)=810- 693
13x=117
=9
99— 45 54
6 6

FromI x+ v=11

and 111 vy =28

31. (d)
I.4a° —20a+21=0

= (2-3)(2a-7)=0

= a=

=]
=
NSRS

II. 26> -5b+3=0
= (b-1)(2b-3)=0

3
= b—lor;

azb
32.(b)
1. 6a® —25a+25=0

= (2a-5)(3a-5)=0

25 55
= R S

IL 15b° —16b+4=0
= (3-2)(5b-2)=0

2

= hz—gorg
a>b
33. (¢)
e

= a=%2
I1. b*=9
= b=4%3

. Relationship between a and b cannot be
established

34. (a)

.24 +3a+1=0

= a+1)(a+1)=0
1

= a=—— or —1
2

IL 126> +7b+1=0

= (Ab+1DHBbL+1)=0
1 1
= b:—z or =
a<bh
35. (e)
 La*+5a+6=0
= (a+2)(a+3)=0
= ‘a=-2or -3
ILb*+3b+2=0
= (b+1)(b+2)=0
= b=-1 or -2
asb




